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3aBrpak  1-4 knacc( AbroTHLIN) eI
Cote KypuHOe C 0BOLLAMMU 60/40 196 11,7 12 9,1
Bynryp oteapHom 150 216 3,7 6,3 28,5
Orypeu csexuit (aon.rapump) 40 8 0,26 0,04 1,06
Yal C NMMOHOM 200/7 43 0,13 0,02 15,2
BatoH 25 70 2 0,5 14
CroumocTb payMoHa 91,33 533 17,79 18,86 67,86
O6ea 5-11 knacc (AbroTHbIM / NAaTHLINA) '
Bopuy "Cubupckuit" c macom, co cmeTaHow, 255/10 125 4,7 7,6 9,5
KoTtneta pbibHan 90 262 11,6 9,4 13,6
Mwope kaptodenvHoe 180 130 3.8 6,3 14,5
Komnot u3 cmecu cyxodpyKkTos 200 86 0,7 0,09 32
Xneb paHoit/6aToH 25/25 120 3,8 0,7 24,4
CroMmocTb paLMoHa 109,60 598 19,9 16,49 84,5
O6ep 1-4 knacc( nbrotHbiM/NAaTHbIN)
bopuy "Cubupckuin" c macom, co cMmeTaHow, i
i 255/10 125 4,7 7,6 9,5
Kotneta pbibHas 90 262 11,6 9,4 13,6
Miope kapTodenbHoe 150 108 3.1 5,2 12,1
Komnot u3 cmecu cyxodpyKToB 200 86 0,7 0,09 32
Xneb pxaron/6aToH 25/25 120 3,8 0,7 24,4
CroumocTb paumoHa 109,60 701 23,9 22,99 91,6
byxrantep Oupektop
lpayesa WU.E. Bopsakosa U.A.
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Kopnyc 1 Ha 13 ceHTAbpna 2024r
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3aBTpak  1-4 knacc( NbroTHbIN) e
CoTe KypuHOE C 0BOLLAMM 60/40 196 11,7 12 9,1
bynryp oTBapHOM 150 216 3.7 6,3 28,5
Orypey cBexuit (aon.rapHup) 40 8 0,26 0,04 1,06
Yak ¢ "MMOHOM 200/7 43 0,13 0,02 15,2
BatoH 25 70 2 0,5 14
CroMmocCTb paumoHa 91,33 533 17,79 18,86 67,86
3asTpak 5-11 Knacc (NbroTHbIM / NnaTHbIN)
CoTe KypuHOE C 0BOWAMH 60/40 196 114 12 9,1
Bynryp oTBapHOM 180 259 3.7 6,3 28,5
Yai ¢ "TMMOHOM 200/7 43 0,13 0,02 15,2
BaTtoH 25 70 2 0,5 14
CroMmoCTb pauMoHa 91,33 568 5,83 6,82 57,7
O6ea 1-4 knacc( AbroTHbIM/NAATHBIN)
Bopuy "CubMpCKMIA™ C MACOM, CO CMETaHON, (3% 47 76 9.5
3EeN1eHbIO 255/10
KoTtneta pbibHan 90 262 11,6 9.4 13,6
Kaprodens oTBapHOM 150 115 3.9 4,7 15,3
KomnoT U3 cmecu cyxoppyKToB 200 86 0,7 0,09 32
Xneb praHoii/6aToH 25/25 120 3,8 0,7 24,4
CroMmocTe pauuoHa 109,60 708 24,7 22,49 94,8
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